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Fun with Give and Take

Cricket Match

In a chicket match; Sni Lanka sade 235 runs.
Indus has made 123 runs. How many more
runs does Indis need to win?

To win India must make 236 runs,

Runs India needs 1o win: |

To win India must make 113 runs
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try it Yourself

Gieeta had Rs 368 in her purse,

‘Shie bought a'book for Rs 123,

How much money is left in ber purse?
Money left in her purse is Rs 368 ~ Rs 123 =7
,,..--.....-r"'r;;'":v- —
Maney left in Geeta's purse is 1
(a) more than 200
(b) less than 200
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Can You Help Nabeela?
Nabeela's mother sent her to the market to buy some things. She gave her Rs
245, Mabeela bought | kg ghee for Rs 127, The shopkeeper gave her back
Rs 98, (Kilogram is written as kg.)

Did the shopkeeper give her the rightamount?

Let's find out
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Practice Time

pi

Baby tortoise is 33 years old. Mummy tortoise is 150 years old. How
much younger is Baby tortoise than Mummy tortoise?

Age of Mummy torioise: 150 years

Age of Baby tortoise: 33 years
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Baby tortoise is 117 years younger than Mummy tortoise.
Arvind has read 69 pages of a story book. Gourl has read 95 pages of
that story book. Who has read more pages and how many more?
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3. Reena noted the eleéiricity meter readings of her house. Last month's
reading was |18 units. This month's reading is 193 units. How much
¢lectricity did she use in one month? |
This month's reading
Last month’s reading

units of electricity.

4. Khushboo bought a shirt for Rs 125 and trousers for Rs 165,
How much money did she spend altogether?

Bought a shirt for Rs _
Bought trousers for Rs




3. Solve the following:
17 1 4 39 I 2 i 6
+. 3 -1 0 +2 4 =38

b
1 39 237 325 4 7 4
T 423 -2.0 4 -136

6 4 2 49 1 35
-1 10 +2-0 +1 4 6

6. Check your answers yoursell: %
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jeck Rashi's subtraction using addition. Give her a 3 for every right
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Ill Let's Deliver Letters
' Postman Unele 1s ill today, Let's deliver the letters for him..

‘Write the correct room numbers on the letters, Then find the rooms in the
ahove hnildine and cirels them o
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Find the Misstng Numbers
Look at the number patterns. Write the missing numbers,

a) 100, 200, 300, . 600,

£ 280, 260, 240, ) —

E “"IEF 200, ’ 2‘5“,, l .
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Practice Time

1. Indu's pencil 15 15 cm long
Jyoti's pencil 15 8§ cm long
‘Whose pencil is longer? How
much longer?

2. Ask your Papa or Mummy
Price of 1 kilo salt -
Price of 1 kilo sugar —
Which one is more costly?
How much more does it cost?

3. Raja cooked chapatis in 25

daal in 15 minutes. How much -
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4. Rifat sells sehool sweaters: In 2 days she sold some red, blue and grey
c¢oloured sweaters:

Sweaters sold on first day
_ ~Sweaters sold on second day.
Look at the above and answer the following:
{a) How many grey sweaters did Rifat sel in 2 days?
rr[h]l}iﬁ she sell more red sweaters than biue sweaters in 2 days?




(e) How many red and prey sweaters did she sell on the ﬁ:st day — more
" ~ than 120 orless than IEH?_.j['i{:k ( - ) the right answer.
| more than 120 . fess than 120 |
| {d) How many sweaters in‘éll did she sell on the second dﬁj,.- — rivore than
' 140 or less than 1402 Tick () the right answer. |
more than 140 ' | less than 140
5. Is Lucy right?

: Lucy went o 1he

market with her grandpa.

She looked at the prices and said to her grandpa —

(a) Ghee is Rs 102 rupees costlier than hiscuits.

(b) Price of oil and ghee altogether 1s more than Rs Eﬂ‘lﬁ

(c) Price of ghee and I kg rice is less than Rs 300,

(d) Oil costs Rs 40 more than a pack of biscuits.
s Lucy right?Mark () or ( X imthebox.©
'Ean_'juurt‘mf_l u:us w}tht;uthﬁing paper and pm:-:h‘ih e




~Story Problems. .
Nisha and Sonu were making story problems. Nisha said — 13 boys and 14
girls in'a class. Sonu, can you make a problem on it?

Sonu wrote

You can also make story problems with your friends. Look at each picture
and the words next to it, Write your problem below it,

‘A, 36 men and 52 women

waiting for their tum "
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B. We have our mid-day meal in 20 minutes and play for 15 minutes.

C. The post office is 1 kilometre from Shahid's home and 2 kilometres from
his school.




‘Count to Subtract!

 Dolma bought 4 dozen (48) bananas and gave one to each of her friends. 13
‘bananas were |eft. How many friends got a banana?

As you know, this can be found by counting forward from 13. It is easier to
E;iunt-in-jitmps of 10, You ¢an also use Kittu's home shown on page 29 to

10+ 16+ 10+5=35
S0 48— 13=35

A S6-d7=12 B. 60—45="7

;”m BT 10
58 57 45 50 60
o 5410=
10+10- 1= S+10=
8056-137= So 60— 45=
€. §0-59 D. 6385 =
w10 10 =
ST NI, E. 84 - 69
e[ Foo0=20=
SoR0-50= [ | it it
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‘Al the King's Horses.... .

Dm:e there was a king who could count oﬁl:,r up'te 9. Up to what number can
you court? | '

The king loved horses. But he could never count all of them. He kept them
in $uch a way that he needed to count only up to 9 from each side.

How many hm'sei in all did the king have?
- One day a visitor with 4 horses came there: It was getting dark so he wanted
to stay there at night. But the horse-keeper was scared. If the king saw these




exura horses he would be very angry! The visitor said - dur not warr:.' Thu
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How many horses are there now?

s m night ﬂm king came to count the horses. Alang each side h:: counted 9
horses. Ah! That's fine — he said. Then he happily went to s.]ﬂqp

[n" the morning ﬂlE clever visitor tried En-:rﬂ'xbnt'mk He took m:t his-own'4
[m::ses But e also’ ran away with same:of the Icmgk humes He lefl the :
l::mgs hﬂrsns sﬂi.hdmg n ll',nis-wmr H-::-w mau:.f hm"a':aﬂrr: AW lcﬂ?
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The 'silly king did not find any horse

missing. Can you help him?

How many horses are now left?

How many of the king's horses were taken away?
(Baiedd on the Tumil folk story from the book “Numeracy Couniz/ ™)

What numbers are we?
If you add us beth you get 100.
The difference between us is also 100,




